
TG • Grade 1 • Unit 14 • Daily Practice and Problems   

Facts and Patterns 1

How can you use the top fact to solve the two related facts under it?

1. A. 2 � 8 = 2. A. 11 � 2 =

B. 3 � 8 = B. 11 � 3 = 

C. 4 � 8 = C. 11 � 4 = 

3. How does knowing 3 � 8 help you solve 11 � 3?

Add and Subtract

A. 3 � 7 = B. 10 � 7 = 

C. 8 � 2 = D. 10 � 2 = 

E. 9 � 2 = F. 11 � 9 = 

G. 7 � 4 = H. 11 � 4 = 

I. 5 � 5 = J. 10 � 5 = 

K. 1 � 9 = L. 10 �9 = 

M. 6 � 5 = N. 11 � 5 = 

O. How can you use 6 � 5 to solve 11 � 5?
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